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Muestre por pantalla, con trece decimales, el resultado de f(a), para

(10 )

= St < —1
k=1
5 1 . s
16 4 , .
> [Teeth siz> 7
J=1 k=1

\

y a un nimero aleatorio con un decimal, en el intervalo [ — 4.6; 7.9]
Solucioén:

#include <stdio.h>
#include <stdlib.h>
tinclude <time.h>

tinclude <math.h>

int main()

{
srand(time(NULL));

float a, fx, sumal=0.0, suma2=0.0, prod1=1.0, prod2;



int i,j,k;

do
{
a=(rand()%126-46)/10.0;
}
while(a==1 | | a==M_P1/2);
if(a<-1)
{
for(k=1;k<=10;k++)
sumal=sumal+pow(ak)/k;
fx=sumal;
}
if(a>-1 && a<M_PI1/2)
{
for(i=2;i<=5;i++)
prodl=prod1*i/(cos(i*a)+5);
fx=prod1;
}
if(a>M_P1/2)
{
for(j=1;j<=16;j++)
{
prod2=1;
for(k=1;k<=4;k++)
prod2=prod2*exp(-j*atk);
suma2=suma2+prod?2;
}
fx=suma2;
}
printf("\nf(%0.1f) = %0.13f\n",a,fx);
return 0;
u

(60 puntos).



